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“‘Finance Manager has no role to play in a

manufacturing company.” Comment. 7

'_Calcﬁlate the after tax cost of capital in each of the

following case, given that the tax rate applicable to the

company is 40% : _ _ 8

(i) 15% preference share sold at par value of
Rs. 100..

(i) . An irredeemable ‘debenture of par value of

| Rs. 1,000 sold at a coupon ratc ;>I' 15%.

(iii) An 8%, ten year debenture of face value of
Rs. |,006 sold ‘at Rs. 950, redecmable at 10%
premium.

(v) - An equity share with a market price of Rs. 110
with expected dividend of Rs. 11 and a growth
rate of 10%. The par value of equity shares is

Rs. 100.
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(a). Explain the book value and market value weights in cost

of capital. | _ 7

() () Find out the present value of Rs. -10,000 receivable
aﬂ.elr 8 years if the discount rate is 10%.

(i) Mr. X will make five equal annual payments of

Rs. 20,000 each in his deposit account that pays

15% interest compounded annually. Find out

" the -future value of the series at the end of

5 years, 8
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How do you calculate the accounting rate of return for
capital budgeting ? What are its limitations ? 7
A firm is considering to purchase a new machine cdsting
Rs. 1,20,000. The installation charges will be Rs. 25,000.
This decision will result in increase in working capital
requirement by Rs. 15,000. The machine is expected to
provide cash inﬂ;)ws before deprecialio.n and taxes
aMnting to Rs. 70,000 for a period of five years ;ﬁcr
which it can be sold for Rs. 50,000. The firm uses
straight line me!hod'of depreciation. The income tax rate

applicable is 35%. Calculate all the cash flows associated

with the machine.

PT.O.
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Or

(3rgam)
A company is considering to install a new project
costing Rs. 7,50,000 with life of 6 years and no salvagc
value. The tax rate is 40% and it uses straight line
method of depreciation. The estimated cash flows before

depreciation and tax are as follows :

Year Amount
(Rs)
| 1,50,000
2 ' 2,00,000
3 225,000
4 | 2,50,000
5 | 3,00,000
6 4,00,000

PTO.
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You are required to calculate :
() Average/accounting rate of return

(/1) Net Present Value @ 12% discount rate

(iif) Profitability Index @ 12%.

PVF @ 12% : .893, .797, .712, .636, .567 .and .507 for
1-6 years. 15
TH HEA 7,50,000 F. GO H a6 a9 w1
el afidiorn enfin F # W @ ¥
Frear 7 w8 o = M oW B w a0
T ok g ¥y W Y vef W owam fea
Sl ¥ wW 3R W gd qwd TR fe yen
q 9

ad LCo)
(%)

* 1,50,000

- 2,00,000

3 225,000

4 2,50,000

5 3,00,000
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(@) Define Leverage. What are the different types of
leverages ? Explain, 7
(b))  The following information is given to you for Firm A
and Firm B :
EBIT (Rs) aterest ®s) | K, (%)
Fim A~ |~ 7.50,00(; ' 1,20,000 15
Firm B 10,50,000 1,50,000 18

The interest rate on debt is 12%.

Calculate :

() Total market value of both the firms and
(i) Overall/weighted average cost of capital of both

the firms. 8

() T @ oRefen W W @ fafi
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EBIT (Rs) | S (Rs) K, (%)

wq ‘ay’ 7,50,000 1,20,000 15

w ‘g 10,50,000 1,50,000 18
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(a) What are the assumptions and implications of Net

Operating Income Approach to capital structurc ? 7
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() Using the -data givcn below, prepare the Income

Statement of X Ltd. : 8
X Ltd.
V.C. as % of sales 0%
. Interest expenses . 5,000
DOL B 15
DFL - 2
Income Tax Rate 40%

(31) $ft @R B Y@ TEEH AE I F ARG
a1 WM (mplications) M & 7
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Explain Gordon’s model of dividends. What are its
assumptions ? Is the value of firm affected I;y its
dividend policy as per this model ? 7
M Ltd. belongs to a risk class for which the appropriate
capitalization rate is 16%. 'lt currently has 4,00,000 shares
selling at Rs. 10 each. The company is planning to
declare a dividend of Rs I.ZQ at ihg gnd of the current
financial -year. The ‘company .expe_c:ﬁ a net income qf

Rs. 10,00,000 and. has -a proposal .for making new

* ‘investments of Rs. 20 lakhs. What will-i:e price of the |

share at the end of the year and how many new shares

must be issued ? Apply MM Approach. - 8
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Or

(3rgam

There are two firms A and B. The equity capitalization

rate of both the firms is 10%. Rate of return on

investments is 15% for Firm A and 10% for Firm B.

The eamning per share of each firm is Rs. 5. Both the

firms have 10,00,000 equity shares. Apply Walter’s model

and :

() Calculate the price of the share and value of each
firm for a retention ratio of (a) 50% and (b) no
retention.

(i) What would be the optimum dividend payout ratio
of each firm ?

(iii) State the relationship between dividend payout

ratio and share price for each firm. 15

PTO.
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What is Credit Policy ? What are the elements of a

' credit policy ? 7

A firm is projecting sales of Rs. 50,000 units next year.
Sale price will be Rs. 20 per unit. Raw material cost,
labour cost and overhead cost arc estimated to be
Rs. 5, Rs. 4 and Rs. 6 respectively. Raw materials remain
in stock on an' average for 2 weeks, work in progréss
for 1 week a;ld finished goods for 3 weeks. Debtors
are allowed 4 weeks credit while suppli.ers give 6 weeks
credit. 25% sales are on cash basis. 10% margin is kept
for conri-ngencics. Prepare a statement showing funds

to be arranged for working capital requirement on cost

basis. Assume 52 weeks in a year. 8
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Or
(3veram)
(@) Distinguish between Temporary and Permanent working
" . capital. - 7
(b)) Explain the ABC. system of Inventory Managerﬁent. 8
(30 st iR wrE W St e Wit
, (@) TR W™ & ABC T W WA
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